Townhouse in Mosta



Reference No: 240081117-56

Mosta, Central



€798,000

Total Rooms: 11

Bathrooms: 1

Floor Area (m²): 176

P☐ Bedrooms: 8

Townhouse - For Sale - Mosta

MOSTA - Corner Townhouse consisting of twelve rooms. The house consists of twelve rooms and four entrances. Entering the property through an arched wide hallway proceeding to a god size room which can be converted to a living. Adjacent the hallway one finds a two car remissa. Further on finding another three rooms then proceeding an internal courtyard and another two rooms at the back. Flying up the stairs one find four huge rooms as bedrooms which can be converted all with en-suite. Going up the roof we find a good size room and full corner roof which can have a jacuzzi and barbeque area. The house is located in an UCA area and a very quiet area. Freehold. Contact us for viewing

Features

- Natural Gas
- Entrance Hall
- Electricity Utility
- Air Space
- Roof Terrace

- Ceramic Floor
- Water Utility
- Yard
- Back Yard

Rooms

- Garage: 4.9 x 3.62 m (17.74 m2)
- Double Bedroom: 3.43 x 3.01 m (10.32 m2)
- Double Bedroom: 3.29 x 3.55 m (11.68 m2)
- Double Bedroom: 3.07 x 3.48 m (10.68 m2)
- Double Bedroom: 3.02 x 3.87 m (11.69 m2)
- Hallway: 9.45 x 1.03 m (9.73 m2)
- Office / Study : 3.45 x 1.85 m (6.38 m2)
- Office / Study : 1.71 x 1.72 m (2.94 m2)
- Double Bedroom : 5.25 x 3.62 m (19 m2)
- Double Bedroom: 3.84 x 4.84 m (18.59 m2)
- Double Bedroom: 6.22 x 3.5 m (21.77 m2)

- ✓ Double Bedroom : 5.02 x 3.61 m (18.12 m2)
- ✓ Bathroom : 4.16 x 1.68 m (6.99 m2)
- ✓ Open Space : 3.03 x 3.47 m (10.51 m2)

Gallery









































Pierre Cutajar RE/MAX Central - Birkirkara

M: 79003399

E: pierre@remaxcentral.com.mt

T: 21480165

RE/MAX Central - Birkirkara

Central Real Estate LTD, Triq Dun Karm, Birkirkara, Malta